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M. A. (Final) (ATKT)

Term End Examination, Jan.-Dec., 2020

Time : Three Hours ]

ECONOMICS

Paper First

(BreRisi spefeme)

[ Maximum Marks : 70
[ Minimum Pass Marks : 14

i ¥ Fré

GUE—3 : U PHHIG 01 H 08 TP Al oY I YT 3 |

Yrs—9q

T gl B SR SRR | IS W B ol
01 3 FuiRa 81 U U & SR 1 A
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Gus—H : YT PHHIG 15 ¥ 18 Tb g SRI U g

Ylg—g

YUs—y

fosl 9 Ul @ SR AR | IS U9 B
forw 05 dfp feiRa 21 U@ ¥ @ SR
T 150 W] AT U UG H SIford |

: Yo HHID 19 W 22 TP g <Y I U B |

fogl & gol & SR SRR | T Y B forw
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L U PG 23 UG 24 oY ST YA & | f

U T B SR AN | TAG T b forv
17 3 RuiRd €| TP U B IR oI
600—750 Gl AT 04—05 UST H ST |

Instructions for Candidate :

Section—A : Question Nos. 01 to 08 are very short answer

type questions. Attempt all questions. Each
question carries 01 mark. Answer each of
these questions in 1 or 2 words/1 sentence.

Section—B : Question Nos. 09 to 14 are half short answer

type questions. Attempt any four questions.
Each question carries 2% marks. Answer each

of these questions in about 75 words or half
page.

Section—C : Question Nos. 15 to 18 are short answer type

questions. Attempt any three questions. Each
question carries 05 marks. Answer each of
these questions in about 150 words or one

page.
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Section-D : Question Nos. 19 to 22 are half long answer

type questions. Attempt any fwo questions.
Each question carries 10 marks. Answer each
of these questions in about 300 words or two

pages.

Section—E : Question Nos. 23 and 24 are long answer type

1.

questions. Attempt any one question. Each
question carries 17 marks. Answer each of
these questions in about 600—750 words or

04—05 pages.
Gug—3f
(Section—A)
fqeq 4@ @1 AT B9 gg oA ?
(31) 1944
(@) 1945
() 1946
() 1947
When was World Bank established ?
(a) 1944
(b) 1945
(c) 1946
(d) 1947
oD AN RIgT qwfd @ :
(a1) Q@ﬂ ﬁw kil
@ Rarel
(@) <. . ﬁa kil
(@) T & I T

P.T.O.

4.
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Comparative Cost Theory is related to :
(a) Adam Smith

(b) Ricardo

(c) J.S.Mill

(d) None of these

AR AN g foe fear g 2

(3 Rerel

(@) ven R

(W) TR

(@) s 9 P T

Who gave the Opportunity Cost Theory ?

(a) Ricardo

(b) Adam Smith

(c) Haberler

(d) None of these

YA Age ¥ e €

(8) <TRR

(@ oFer

() %9 vd oge Aa
SRR

Balance of Payment includes :
(a) Debit

(b) Credit

(c) Visible and invisible items
(d) All of the above
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g JpferaRe T © ? GUE—q

What is Closed Economy ? (Section—C)

aRe Ny & dadt q T forey | 15. gt ¥ B Wiis 7919 31 awEgd |
Write a only two objectives of Trade Policy. Explain the static effects of customs union.
WIe | WRPR BT R I &xdl & 2 16. ReR (¥R T a1 § ?

. oo _ .
What does the government receive from tariff What is constant opportunity cost ?

3R a5 A ?
What is offer curve ?
Yre—q
(Section—B)

17. 3% U4 Ufidhd ATIR & 3@l bl T8y |
Explain favourable and unfavourable terms of trade.
18. favg 3@ & Sewa fofay |
Write down the objectives of World Bank.
Ylg—g
(Section—D)

AR e 4 3AYHT T M § 7
What do you understand by Trade Balance ?

. SRS TR BT 3fef Jarsy |
o 9 ?
What is the meaning of International Trade ? 19. I’ AT IR Th¥ P g

What is European Money Market ?

. WIS 5 Fd € ?

What is Tariff ? 20. TRMAR-ATECH & Aed ®I o Aled THEY |
~ el Bl 3Tl TH AT FT g7 Explain Heckscher-Ohlin’s model with the help of
What is Parato’s Optimum Stage ? diagramme.
| qeaR & o SaTgd | 21, I B YHTG BT [a%lo HIfT |
Explain the benefits of Tariff. Analyse the effects of Devaluation.
. A & §B WY FRfd & W gy | 22. MR B! ACT DI FAEROM BT facz BT |
Write the name of important export items of India. Discuss the concepts of terms of trade.

P.T.O.
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Yre—g
(Section—E)
23. Rearel & o icid anTd Rigra & 73 &1 Jeria
W A |

Explain the Ricardo’s theory of comparative cost with
the help of diagramme.

24. YYed S NG I (47 DI G 4 G |

Explain the effects of tariff with the help of a
diagramme.

0-6315 50
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ECONOMICS
Paper Second

(TR arefaawen & fadm)

[ Maximum Marks : 70
[ Minimum Pass Marks : 14

et ¥ f -

YUs—3

YUs—¢q

Yre—y

L U FHIG 01 | 08 TP 31T 7Y STRII U & |

T g B SR SRR TS W B ol
01 3 FuiRa 21 U U & SR 1 ;A
2 Ui /1 IR R |

L Ue HHID 09 | 14 TP g ofg I U ¢ |

fhel IR U & S AW | IAd TH b
fog 21 ofF fuiRa €1 9Q& T @1 IR
ST 75 TSS] T ST UST H <o |

LU FAG 15 9 18 Th oY SR U g

gl T gl & IR AR | uAd T B
fort 05 3f@ fuiRd 21 T_® U9 & SW
ST 150 W] AT U UGl | I |

P.T.O.
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WUS—< : U HHIG 19 T 22 TH g oY SR T3 B |

Yus—F

forl & Uol & SR SRR | UAd Yo & forw
10 3 fRUiRd €| TP U B IR oI
300 ¥rsal AT S U1 H AT |

L U9 HEG 23 UG 24 o ST YA & | fd

U6 U B SR AN | TAG T b forv
17 3ip RuiRd €| TP U 1 IR oI
600—750 Gl AT 04—05 UST H IO |

Instructions for Candidate :

Section—A : Question Nos. 01 to 08 are very short answer

type questions. Attempt all questions. Each
question carries 01 mark. Answer each of
these questions in 1 or 2 words/1 sentence.

Section—B : Question Nos. 09 to 14 are half short answer

type questions. Attempt any four questions.
Each question carries 2% marks. Answer each

of these questions in about 75 words or half
page.

Section—C : Question Nos. 15 to 18 are short answer type

questions. Attempt any three questions. Each
question carries 05 marks. Answer each of
these questions in about 150 words or one

page.

Section—D : Question Nos. 19 to 22 are half long answer

type questions. Attempt any fwo questions.
Each question carries 10 marks. Answer each
of these questions in about 300 words or two

pages.
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Section—E : Question Nos. 23 and 24 are long answer type

1.

questions. Attempt any one question. Each
question carries 17 marks. Answer each of
these questions in about 600—750 words or
04—05 pages.

Yug—

(Section—A)
e ST AN & e o
(31) TERIER AG
(@) wETeHT T
(@) govas 99
() SfaTEReld E%
The Chairman of the first Planning Commission was :
(a) Chandrashekhar Azad
(b) Mahatma Gandhi

(c) Subhash Chandra Bose
(d) Jawaharlal Nehru

Ficd H FaveM fqafaa MM & W $9 foar
T o7 ?
(31) 1985
(@) 1987
(9) 1986
() 1989

P.T.O.

3.

4.

[4] 0-6316
When was the first decentralized planning used in
Karnataka ?
(a) 1985
(b) 1987
(c) 1986
(d) 1989
ol & W © :
(o) fatelt
(@) =N
(3) @
() sww
The source of energy is :
(a) Electric
(b) Biogas
(c) Coal
(d) All of the above
T 1981 H WRA D e & ) o
(@) 12.18%
@) 36.12%
(M) 12.36%
(@) 37.12%
In 1981 the rate of education in India was :
(a) 12.18%
(b) 36.12%
(c) 12.36%
(d) 37.12%



5.
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AR A &7 T899 ¢
(&) s

(@) frard

()
© @

The main source of national income is :

(a) Import

(b) Export

(c) Agriculture

(d) Expenditure

B REM @ &3 § U Y T@Hel FH @ Fed
g

(@) Sirenfid st

(@ T i

(|) eRa wifa

() T« BIg TE

It is called technical knowledge adopted in the field of
agriculture development :

(a) Industrial Revolution
(b) Social Revolution
(c) Green Revolution

(d) None of these

P.T.O.

7.

8.

9.

[6] 0-6316
GG AR Yoell # Heeaqul URadH 31T :
(1) 1956 &
(@) 1958 |
(@) 1950 &
(X) 1954

The public distribution system underwent significant
changes :

(a) Since 1956
(b) Since 1958
(c) Since 1950
(d) Since 1954

WRT H BRA PIT Dl YOI B Tg ?

(31) 1966

(@) 1976

(W) 1977

() 1988

When did the green revolution begin in India ?
(a) 1966

(b) 1976

(c) 1977

(d) 1988

Yus—4
(Section—B)
TG RGN W Y T FHA § ?

What do you understand by Wage Goods ?



10.

1.

12.

13.

14.

15.

16.

17.

18.

[7] 0-6316

o W Y T G & 7

What do you understand by Saving ?

I QR 9 MU FJ7 M © ?

What do you mean by Land Reform ?

HAAR R & T HAT T & ?

What do you understand by crop-wise imbalance ?
Y O & My T wHR § ?

What do you understand by development of
agriculture ?

T WR g | MY F®7 R € 2
What do you understand by increase in price-level ?
Yrg—4
(Section—C)
Wdadl & 9G9I IRAY e @ faudl @
Ieelg DIy |

Mention the characteristics of the Indian economy at
the time of Independence.

WA H I9q1 &1 YE AId /8 ?
What is the main source of savings in India ?

3T BT SAHHAT & DR forlRgu |

Write reasons for income inequality.

IR H ATl fIaRoT gomel &l fa9vdmei o1 Soorg
BT |

Mention the features of public distribution system in
India.

P.T.O.

19.

20.

21.

22.

23.

24.

[8] 0-6316

YUs—q
(Section—D)
Bivad T4 fddfsd PRI H R WE ST |

Explain the difference between Centralized an
Decentralized Planning.

B WRE W TS grel R & Y919 B TN |

Explain the impact of education on agricultural
infrastructure.

el @1 79 T B folv U™ TaTsy |

Describe government measures to reduce poverty.

A~ IR Yollell & &3l bl Jooid DIfT |
Mention the areas of public distribution system.
Yre—g
(Section—E)
ERT HIT & B & W Y9G BT Seord DI |

Mention the impact of the green revolution on the
agricultural sector.

ISl I ¥ oY & G © 0 SHD YBRI B
Ieerg BT |

What do you understand by capital formation ? Discuss
its different types.

0-6316 50
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ECONOMICS
Paper Third

(5 3rieme)

[ Maximum Marks : 70
[ Minimum Pass Marks : 14

i ¥ Fré

Yrs—

Yrs—9q

Yre—YH

L U PHHIP 01 W 08 T 3 g ITRIT e ¢ |

T g b SR | TS Y o ol
01 3 FuiRa 81 U U & SR 1 A
2 Ui /1 IR R |

L Ue 1B 09 W 14 TP Ag oY STRIY Y ¢ |

sl IR U & SR | TS TN b
fer 24 sf@ fuila &1 u® ge @1 SR
ST 75 TSS] T ST UST H <o |

LU PBHIG 15 W 18 TP oY IaNT U 3|

gl T gl & IR AR | uAd T B
fort 05 3f@ fuiRd 21 "WR® U9 & SW
ST 150 W] AT U UGl H I |

P.T.O.

[2] 0-6317

WUS—< : U HHIG 19 T 22 TH g oY SR T3 B |

GUs—3

fol & uol & SR SRR | UAd Yo & forw
10 3 FUIRT €| TP U Bl IR T
300 ¥Tsal AT S U § ST |

L U HHG 23 UG 24 oY ST YA & | f

U T B SR AN | TAG T b forv
17 3 RuiRd €| TP U B IR oI
600—750 Gl AT 04—05 UST H IO |

Instructions for Candidate :

Section—A : Question Nos. 01 to 08 are very short answer

type questions. Attempt all questions. Each
question carries 01 mark. Answer each of
these questions in 1 or 2 words/1 sentence.

Section—B : Question Nos. 09 to 14 are half short answer

type questions. Attempt any four questions.
Each question carries 2% marks. Answer each

of these questions in about 75 words or half
page.

Section—C : Question Nos. 15 to 18 are short answer type

questions. Attempt any three questions. Each
question carries 05 marks. Answer each of
these questions in about 150 words or one

page.

Section—D : Question Nos. 19 to 22 are half long answer

type questions. Attempt any fwo questions.
Each question carries 10 marks. Answer each
of these questions in about 300 words or two

pages.
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Section—E : Question Nos. 23 and 24 are long answer type

questions. Attempt any one question. Each
question carries 17 marks. Answer each of
these questions in about 600—750 words or
04—05 pages.

Ylg—3]
(Section—A)
IAEH 5 {6 Pedd 8 7

What is productive labour ?

M IR @ feberel 0T & ?

How many characteristics does labour market have ?
faepreaeiiel <l @1 o gomferdt & =il fawryar
R ?

What is technical feature of economic system of
developing countries ?

(RITeRTT &) WreThrl ANGRT &1 3 foflad |

Write the formula of employer’s bargaining attitude.
WRd 4 Ugell Sffd |Y SRR w9 uiRd garr ?
When the first Trade Unions Act passed in India ?
“q IS Al R” THH TP & b DI & ?

Who 1is the author of the book “The World of
Labour” ?

P.T.O.

10.

1.

12.

13.

14.

[4] 0-6317

HREM Vae, 1948 & AR, fha a¥ &1 Ao wrl
TR Thdl § 7

According to the Factories Act, 1948, what will be the
age of a person to do work ?

“Thersiowar” TN &g JUN T o ?
When was the “Philadelphia” announcement adopted ?
Yug—q
(Section—B)
s it @) “favHiTar” 5 FEd €

What do you understand by toxicity of the labour
class ?

qeea] | MY FT G © °
What do you understand by Technology ?

T | 3T T GHed § ?

What is regression ?

%6 FEl & < SRl BT gAY |

State two functions of labour unions.

AHfed dearel & fbel IR el Bl gared |

State any four characteristics of collective bargaining.

RGeS S GRem & 18 &1 Sl fofay |

Write down any fwo measures of Indian industrial

labour protection.



15.

16.

17.

18.

19.

20.

21.

[5] 0-6317
Yug—Y
(Section—C)
TR SRIGHTRY 3 3T T T & 2

What do you mean by Cyclical Unemployment ?
“A Ao W e fewh fofed |
Write a short note on “Minimum Wages”.

ANl st bl & 31l @l g |

Explain the meaning of industrial labour unions.

AT GRET Sl A9 Bl WL Bifr |
Explain the measures of social security.
Ylg—q
(Section—D)

S P SEhdl W AU RN GEE § 0 T UG
geal $1 R 9 quiF ST |

What do you understand by productivity of labour ?
Describe in detail its major components.

TR JEr § UK gAd A @ A @
AT |

Explain the importance of national minimum wage in

Indian industries.

IS, AR, AL AT B ey F fadem BT |

Describe briefly the I. R. C. Commission.

P.T.O.

22.

23.

24.

[6] 0-6317

TFHT S SIR TR T IR 9o IR |
Describe in detail the rural labour and poverty.
Yre—g
(Section—E)

ST SUA | Y NEER % ? ENCIRCIRIERIREY
i DI |

What do you understand by Labour Economics ?
Critically evaluate it.

URd ¥ Al M @ Jelicae RIfd g BH BN B
PRV BT L PR |

Explain the comparative status of women labour in
India and the reasons for its decline.

0-6317 50
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ECONOMICS
Paper Fourth

@ i fawr v fraer)

[ Maximum Marks : 70
[ Minimum Pass Marks : 14

et &g f -

YUs—3

Yls—¢q

Yre—YH

L U FHIG 01 | 08 TP 31T Y STRIA U & |

T gl B SR SRR TS W B ol
01 3 FiRd 81 U® U @ ST 1 A
2 UGl /1 qR H S |

L U HHID 09 W 14 TP g ofg IR U ¢ |

fhsl gR U & SR AR | TS TN b
for 21 se fuiRd €1 786 599 &1 W
ST 75 TSS] T ST UST H <o |

LU PBHIG 15 W 18 TP oY IaNT U 3|

gl T gl & IR AR | uAd T B
fort 05 3f@ fuiRd 21 "WR® U9 & SW
ST 150 W] AT U UGl H I |

P.T.O.

[2] 0-6318

WUS—< : U HHIG 19 T 22 TH g oY SR T3 B |

Yus—F

forl & Uol & SR SRR | UAd Yo & forw
10 3 fRUiRd €| TP U B IR oI
300 ¥rsal AT S U1 H AT |

L U9 HEG 23 UG 24 o ST YA & | fd

U6 T B SR AN | TAG T B forv
17 3 RuiRd €| TP U B IR oI
600—750 3T AT 04—05 U H ST |

Instructions for Candidate :

Section—A : Question Nos. 01 to 08 are very short answer

type questions. Attempt all questions. Each
question carries 01 mark. Answer each of
these questions in 1 or 2 words/1 sentence.

Section—B : Question Nos. 09 to 14 are half short answer

type questions. Attempt any four questions.
Each question carries 2% marks. Answer each

of these questions in about 75 words or half
page.

Section—C : Question Nos. 15 to 18 are short answer type

questions. Attempt any three questions. Each
question carries 05 marks. Answer each of
these questions in about 150 words or one

page.

Section—D : Question Nos. 19 to 22 are half long answer

type questions. Attempt any fwo questions.
Each question carries 10 marks. Answer each
of these questions in about 300 words or two

pages.
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Section—E : Question Nos. 23 and 24 are long answer type

questions. Attempt any one question. Each
question carries 17 marks. Answer each of
these questions in about 600—750 words or
04—05 pages.
Yug—
(Section—A)
e WG &1 FaueM fdwgd vd @aied
g feper fear ?

Who has developed firstly detailed and systematic
theory of industrial localisation ?

&A1 e & S D € 2

Who is the founder of Regional Science ?

(TR & AR IR BT WHY b4l Bl & 2

How is the structure of market according to
Christaller ?

STYC-3MICYC BT T [ HHT I & ?
Who is the founder of Input-Output ?

Yod Uy A e Hisel TR e off ?
First Five Year Plan was based on which model ?

1993-94 ¥ fobeT=il AIAT H PlcAIS YANT gY ?

How much pesticide was used in 1993-94 ?

P.T.O.

10.

1.

12.

13.

14.

15.

[4] 0-6318

e SFdeaTT AR & Ml @ RIweTRY @f ?

Who has recommended the benefits of welfare
planning ?

T ¥ WER B YA YgRT & SRUT B fbai qe
g 7?

How many reasons are responsible for migration from
village to urban area ?

Yug—q
(Section—B)
et R @ o T T # 7
What do you mean by Imperfect Competition ?
gTe] @Il 1 & ?
What is Current Account ?

ST | MY T s § ?

What do you mean by Planning ?
Aol BNe] IcIE W MY AT AW © 7

What do you mean by Gross Domestic Product ?
T 3ifehd & RidA q@a g 2
What is Drought Prone Area Programme ?

SETIBRr & 37T T FHd © ?

What do you mean by Industrialisation ?
Yrs—y
(Section—C)
WMIIGRT & BRPI BT ool Zﬁ-ﬁlﬂ’ |

Describe the indicators of localisation.




16.

17.

18.

19.

20.

21.

22.

[5] 0-6318
AN HiSel &I ARET BHIoTY |
Explain Lange’s model.

R B FdIRel B PN D IewN B THIRC
BIFTY |

Focus on the objective of agriculture for Indian

economy.
WETRI &1 T TR @1 § ?
What are the main problems of metropolitan city ?
Ylg—q
(Section—D)
GOIR’ WS AT AT G § 7 59D [EIRY SRa
&7 oI BT |

What do you mean by the word ‘Market’ ? Discuss its

determine factors.

Nefie Pided ¥ AU |/ G & ? WK
BT |

What do you mean by Industry Complex ? Clear it.
GOl yFai Ao R ool forRed |

Write a note on Sixth Five Year Plan.

TRl fIhrT HIRIHH TR YHTY SIfely |

Focus on Desert Development Programme.

P.T.O.

[6] 0-6318
YUg—g
(Section—E)

23, “SGIa e fadrd Aeel” R U fewell
oIy |
Write a note on “Tribal Area Development Plans”.

24, JFhe IR & ARG VMR g @
3MATITHD AT & GQI
Critically discuss the Alfred Waber’s theory of
industrial localisation.

0-6318 50





